i

Solutioms to ENEE 4214 Exam X

SPring A0 10

@) Add o 8 belwean ch saapl. So
nTA) = § XT) Hor nZam

Yﬁ( 3 0 for m odd

SRy .
[L\ X'C C 3) ;) = X(cJWT) G tia N‘j%u.(ﬁf bOMOI lewl < ug

- rvs .—uzé -

e, TS-nu, 5w ~ w “ 7 5. “
Sl PVa "3 ’;Q‘O 3 5% s SR
(4) ¥ (&™) = L 3y (@A)
= = e
3 nzp €
ATl S ASE R - I o wy sw 10, ‘d
e '3 3 3 4 W
—ja  —@ -4 o 4 3 12 o
2. Sy (E + oo+ k%-) - eo N-1
fa) Poles 51;.5 ch >3 o ’6"0/'/ ‘ /N
wT w = N
" f ) _ .[.a : ST — Yam T =
Prewavp UL, = , =z e 35 3 g
=1 = 2
for N H(s) z T st A3
N3, -1
&) =] O N3 _ 3 1=z
;'J_'/——‘ i~z -~ 5
_T—[Izi j42! fﬁ ank l 1443
i-43
3 N
D, /Qaf

~




L
X (c) Xth)_1+13

vin) = E xo)d —= Y% sim)
435 ifvé

YlnYy =~ V(N + S(a)
S{m+1) = Vin)

ﬁ V;/ ¢ j.w“-r ‘%' evx pyFev uﬁf
h( ._ -L H*w)e A = ..L H{w)@gh);ﬂ'&(,);. L (H SnwT A
n) < w, g

s ~ Wy 3 e‘/\}/‘w

2 Wg /3 =

v 2 0dd
= 2 g | X cos waT gy = 2 < n u,nr}u;/z
. W,
s v Nt R
/jf S 0= Y,
- 4 ‘;'I’V\"HT’—SN\ hTr - - 4;'\"792
hIT —
- Sm I d +0 74‘{" (\ k— N=!
h("\ - 7. = = [56’ +0.46 <os ] i = &
n

Add selay 4§ 5Q,mpj,e§
M = 2% F oz

nTt-R
(n) N24Y _4ws - Joo
“c "/5/15
—~ 20
. la = - . =
4 ) 9 =Ix HG) = l~oq§
- 2 20
(blg— X 1<y ¢ +
57 2B < 9 '3-;,%:) />® 2 K005 2 T a¥CpE
Neadl harel o2y <30 »
(¢) m -1 & { o}y 3 v
i) 3.4 3o.¥s AT 2Q,5

“3(n) 32 31 30 3¢ 0 T ‘
(d) Tre oufput stuys of e value 5@6 m tre doad pand



